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3 AR 1:5%2%8’&%5 C /N6 8/ 4 1:03.37 8k ( 0.60)
4 Fifizo KRR SABOT'%M@ il 7/10 103. 40 8tk ( 0.63)
5 HHE I Eilégjgéﬁﬁﬁﬁ /16 7/ 8 103. 43 8tk ( 0.63)
6 Al R = f#‘?ﬁiﬁ% NG 8/ 3 :03. 52 10#% ( 0.66)
TRA CHE %bugos'gé il 5/ 17 :03. 98 8k ( 0.83)
8 <FH i ﬁ$€$%;9- 1 8/ 2 :05. 50 % ( 0.61)
9 M KR @7‘5054; Wil 6/ 5 :05. 64 Tk (0.72)
10 =il BRA wwjgg%% /N6 5/ 2 :06. 78 8tk ( 0.71)
1 /I e :T;E;&E /INB 4/ 1 :07.32 8#k ( 0.68)
12 I BEE /Mﬁfﬁ'}i?aﬁ 1 6/ 2 :07. 34 7k (0.63)
13 HF =R VERDT i1 4/ 2 1:07.71 % ( 0.61)
14 B E) M"#fi'ﬁ;s% NG 5/10 :07.75 6% ( 0.62)
156 R 5K 1:5%3%2&%5 C /N6 5/ 8 :07.97 8tk ( 0.54)
16 A4 24 /v$ﬁjiéjk3% NG 4/ 6 :08. 20 6% ( 0.69)
17 g FFIR ﬁ§§1§&~ H11 3/ 8 1:08.34 6k ( 0.73)
18 =M LHL :27“3?1:% /1N6 5/ 9 :08. 85 6% ( 0.68)
19 HEg - %fszsgé NG 4/ 8 :09. 23 68 ( 0.74)
20 fEH RE m>%§&% /N6 4/ 4 :09. 38 Tk (0.70)
21 A IKE éﬁﬁﬁ /N6 3/ 17 :09. 51 % (0.82)
22 FHE Bk ;m\ﬁfi'{g% /NG 1/ 6 1:09.58 Tk (0.72)
23 FIRJEDK zjeujgsgg: H11 3/ 6 1:09.80 6k ( 0.64)
24 ERREIE %é’iﬁ%w 1 4/ 9 :09. 97 6% ( 0.72)
26 BACH 7% rﬂjgﬁ‘%ﬁm /N5 4/ 3 :10. 44 % (0.79)
26 Kl tIr M‘#fﬁgﬂﬁ /N6 3/ 5 :10. 58 Tk (0.79)
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B K 4 R FHE KK B M
29 & B MY S /N5 4/ 7  1:11.62 7k ( 0.69)
30 NH = Si%‘%#ﬁ /N6 /7 1:11.72 ik (0.64)
31 (LG R %ﬁﬂs% N 2/ 8 1:11.82 % ( 0.69)
32 EH FHh M;gs'?r?zkm /NG 5/ 1 1:11.84 T#%  ( 0.64)
33 AR R %ﬁé%gigi&~ /N5 3/ 4 1:11.86 6% ( 0.62)
34 /NEFERFHR = f#‘iitﬁ /N6 3/ 3 1:12.55 5tk ( 0.64)
3b Wik VERS% v /N6 2/ 5 1:12.73 6k ( 0.62)
36 st TERE M;:SS;BEiBﬂ NG 1/5 1:12.92 6% ( 0.64)
37 M g ﬁﬁéég NG 3/ 1 1:13.21 6% ( 0.62)
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43 fEAR s} w*ﬁjiéi%l /N6 1/3 1:16.15 56 (0.71)
44 Pelly  EZE ijF“g‘ztﬁé NG 2/ 6 1:16.68 58 ( 0.70)

T R K B :736\: i)ﬁ /N6 4/10 %k184.4 (—— )
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8 T A D‘/ii#‘?j:ikﬁ 2 11/ 2 1:00.09 T (0.64)
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9 WA FBitfsE R—2ONEY i3 7/9 1:00.26 Tk ( 0.67)
10 #k@E &3} x;gégfa 3 12/ 3 1:00.42 Tk (0.58)
11 RA thE VER§$'97 1 10/ 4 1:00. 49 8tk ( 0.66)
12 RE 16 msg%%ﬂi H11 8/ 7 1:01.28 8tk ( 0.65)
13 SHI BX VERS?AB 2 11/10  1:01.36 8tk ( 0.66)
14 AJT i W aa e I 2 10/10  1:01.50 % (0.75)
15 g KA 1:"/29F‘6iitia 2 8/ 5 1:01.75 8tk ( 0.64)
16 [ H5 SO 1 10/ 7 1:01.78 s (0.71)
17 Rl A VERS?'BQ 12 9/ 5 1:01.79 8fk ( 0.62)
18 JLiE R ;m\ﬁfg'ﬂ?ﬁa 12 5/ 5 1:01.83 Tk (0.74)
19 SEE At N7\29F6s7s 3 9/ 9 1:02.02 6% ( 0.66)
20 fitE W4 VAR h3 6/ 6 1:02.09 6% ( 0.67)
21 &l R mfﬁ%& 1 9/ 3 1:02.16 Tk (0.73)
22 St ZAiE myggﬁ‘lﬁjzt% W3 8/10 1:02.19 6#% ( 0.69)
23 [ EEK ESiggéiii/ 2 10/ 6 1:02.44 68 ( 0.72)
24 TEWHE I MYgos'?rBEkﬁi 1 8/ 6 1:02.59 7k (0.67)
256 K& the stgé%ﬂﬁ H1 9/ 1 1:02.65 7#% ( 0.65)
26 miff NXZQF?S H3 7/ 4 1:02.77 6% ( 0.68)
27 1 B ?%%2?755“— 1 7/ 5 1:03.01 % ( 0.58)
28 /NEIFEHEAH w\ﬁf?é?ﬁa Wl 8/ 8 1:03.32 Tk (0.69)
29 LA R fﬁg?ﬁgﬁm 12 7/ 3  1:03.37 7#%  ( 0.59)
30 i O ﬁ§$2;&~ 2 7/ 7 1:03.48 7k (0.63)
31 W I KH ks f1 7/ 2 1.0417 % (0.58)
32 RE Ke zfzgiiﬁ il 8/ 9 1:04.26 7k (0.61)
33 F5 (LB :'7‘?0\:iﬂ Hi1 8/ 1 1:04.42 6% ( 0.62)
34 K TR = joﬁ‘gﬁizt% 2 6/ 4 1:04.44 6% ( 0.82)
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37 5L FHE I.S.F 12 5/ 6 1:05.15 6% ( 0.74)
38 FA HEE Si%‘%’fﬁ H11 5/ 3 1:05.38 6% ( 0.62)
39 kA AR VERDL 1 6/ 9 1:05.39 6% ( 0.70)
40 Z i HAERE D‘/BIF“%;&% il 7/ 6 1:05.44 6% ( 0.71)
41 B A Jz‘/b;?%ﬁ 2 6/ 8 1:06.00 5% ( 0.70)
42 3B FLIK 1SS i1 6/ 3 1:06.08 6% ( 0.58)
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44 TRE K zﬁ%%ﬁ 1 4/ 5 1:08.04 5%k ( 0.62)
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1A Y AEYUINSS S &2 13/ 6 52. 67 104%  ( 0.63)
2 EH —% LS =2 13/ 3 54.01 9% ( 0.64)
3 KM e T - HIRO' s =2 13/ 7 54.90 9%% ( 0.56)
4 BAF A 1.5.212' . K1 13/ 2 55. 44 8tk ( 0.63)
5 EHE A itﬁgge&%s C ml 13/ 8 55. 54 9% ( 0.75)
6 Kk EHE %73565% K1 12/ 5 55. 60 7% ( 0.67)
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8 g VgL M rzg%?zﬁﬂﬁ El 12/ 9 56. 13 8k ( 0.68)
9 BH = VERDI 1 13/10 56. 23 8tk ( 0.67)
10 Kfn ®"o xw‘g?ﬁiifﬁ 2 13/ 1 56. 34 8tk ( 0.66)
11 /NG el (fzﬁazgégﬁ 3 13/ 4 56. 38 8tk ( 0.61)
12 §# B mf?@ff% w1l 11/ 4 56. 48 8fk ( 0.61)
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15 EiE AeST K2 11/ 5  58.08 6% ( 0.66)
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25 Tk 1&%E o REAL 13 9/10 1:03.66 58k (0.74)
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